‘Sv\::sdfv"bl;’ot{by: V= VYo — ) o .ﬂw,d
€3 95 03 o (0, —Y) aadl Caw s (1, ¢ ) aes 31 (V)

Ssdedgay (1, 0) db G 4 (0, —Y) e 51 (V)

5 03 gor HUSG LS &S ST (6 eyl Gl 1y ) o Slaomia LV Y oy e

r="\+cos'Z (v) r=1\+Ycosf (V)

oo bl Gl 1y (2besl e ST (6 eyl 1) 1 = sin PO s dslae U O s VY g el
DFODMJLQL@JJ)b)‘}uy)fww‘)w&C)‘dbués%S

.Jﬁ)ﬂw.sg\)ﬁjéuymgbb AV S

C:{x:cos\’t (v<t<m) (V)

y = sin Y¢
2R A PP Ty
y =sint —tcost % ¥
x =cost+tsint
C:{y=sint —tcost ('Stﬁé) (¥)
z=1"
y:\’:)ﬁg-l—r, ('SCL’SV) (F)
y = Insinx, (%§$§*Tﬂ) (0)
y=1z"—Inz, (V<az<e) ()
r=e" <O YT (V)
r=Ysecl, —mw/¥ <07/ (A)
r=cosf (1)



